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] HEE 32 10 5 7 32 100.0%
FEREE> 32 10 5 7 32 100.0%
M EEER H=EH 36 13 11 3 40 90.0%
FEXE 51 10 7 3 53 96.2%
&S 46 4 6 0 48 95.8%
ERERT 108 4 5 6 109 99.1%
P ESE 56 2 8 7 56 100.0%
TS5 AXFF 58 4 4 1 58 100.0%
FEEE 88 3 4 3 90 97.8%
<PEREE> 443 40 45 23 454 97.6%
e AREZEE HEFH 52 8 9 3 56 92.9%
=SS 43 19 5 0 45 95.6%
HEEFE 60 1 5 7 62 96.8%
HEEUEE 48 4 3 9 49 98.0%
BEFHE 72 6 1 1 73 98.6%
<PEREE> 275 38 23 20 285 96.5%
B ER EEEE 109 10 9 13 112 97.3%
E[RERESEE 82 4 8 11 83 98.8%
BRIR R A F 62 4 7 5 64 96.9%
<PEREE> 253 18 24 29 259 97.7%
BEFE BEEEH 112 10 9 30 114 98.2%
EEFE 119 2 13 17 120 99.2%
<ZFEREE> 231 12 22 47 234 98.7%
SLEEZE FEESE 156 11 18 10 161 96.9%
R VE=FH 68 1 4 1 68 100.0%
IS5V REFH 68 2 11 3 68 100.0%
A RIN=FEZF] 55 3 5 2 55 100.0%
0L 7EEHE 49 0 7 4 52 94.2%
RILHILEEZREL 78 3 2 10 78 100.0%
<PEREE> 474 20 47 30 482 98.3%
BEITO—/NIILER |BEIO—/NILER 114 5 9 2 115 99.1%
<ZFEREF> 114 5 9 2 115 99.1%
EEHEFE EEHEFE 101 8 29 25 122 82.8%
<ZFERET> 101 8 29 25 122 82.8%
BT MEAGEISE 66 74 4 1 68 97.1%
HEBERIEIE T 40 74 3 3 43 93.0%
[EERIE T 25 71 49 4 7 71 100.0%
<ZPEREE> 177 197 11 11 182 97.3%
KREEE 2100 348 215 194 2165 97.0%
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